SCOTT POLLOCK T 613.787.3541 spollock@blg.com Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St, Suite 1300 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 F 613.787.3558 (IP) blg.com



Our File # 339583-000254

By electronic filing

February 28, 2019

Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street, Suite 2701 Toronto ON M4P 1E4

Dear Ms. Walli

Re: Ontario Power Generation Inc. ("OPG") 2019 Hydroelectric Payment Amount Adjustment Board File #: EB-2018-0243

Pursuant to the Board's Decision and Payment Amounts Order dated February 21, 2019, we enclose a Cost Claim on behalf of our client, Canadian Manufacturers & Exporters ("CME").

A copy of this Cost Claim has been forwarded to OPG as instructed in the Decision and Order.

Please contact me if you have any questions or require any additional information.

Yours very truly

Borden Ladner Gervais LLP

Scott Pollock

enclosure c. Saba Zadeh and Mel Hogg (OPG) Alex Greco (CME)

OTT01: 9545712: v1

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

			Instructions	a the state was	1 <u>3</u>	
- Required data i	nput is indicated by yellow-shaded fie	lds. Formula	s are embedded in the form	to assist with calculation	ons.	
- All claims must	be in Canadian dollars. If applicable,	state exchar	nge rate and country of initi	al currency.		
		Rate	2:	Country:		And Internet Street
Being Claimed") Disbursements" - The cost claim - A CV for each c	tail of Fees and Disbursements Being (is required for each lawyer, analyst/co covering the whole of the party's cost must be supported by a completed Af onsultant/analyst must be attached u pt as provided in section 7.03 of t	onsultant and claim should fidavit signed nless provide	d articling student/paralega d be provided. d by a representative of the ed to the Board as prescribe	I. However, only one "S party. d on the Cost Award Tai	Summary of F	ees and
			Ontario Power Gen	Galler States and States and Street		5
File # EB- 2018-0243 Process: 2019 Hydroelectric Payment Amount Adjustment						t
Party: C	Canadian Manufacturers & Exp	Affiant's Nan	ne: Scott Pollock	-		
HST Number:	10807 5482 RT0001		н	IST Rate Ontario:	13.00%	
	Full Registrant		Qua	lifying Non-Profit		
	Unregistered			, C Tax Exempt		
	Other	\checkmark				
			Affidavit			
I, S	Scott Pollock		, of the City of	Ottawa		
in the Provir	nce of O	ntario		, swear or affir	m that:	

1. I am a representative of the above-noted party (the "Party") and as such have knowledge of the matters attested to herein.

2. I have examined all of the documentation in support of this cost claim, including the attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed".

3. The attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed" include only costs incurred and time spent directly for the purposes of the Party's participation in the Ontario Energy Board process referred to above.

4. This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in sections 6.05 and 6.09 of the Board's Practice Direction on Cost Awards.

Signature of Affiant

Sworn or affirmed before me at the City of

Ottawa

February 28, 2019 in the Province of Ontario , on (date) **Commissioner for taking Affidavits**

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

Ontario Power Generation Inc.

File # EB- 2018-0243

Process: 2019 Hydroelectric Payment Amount Adjustment

Party: Canadian Manufacturers & Exporters

	Summary of Fees and Disbursements	Being Claimed
Legal/consultant/other fees	\$5,321.00	
Disbursements	\$0.00	
HST	\$691.73	
Total Cost Claim	\$6,012.73	

Payment Information

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Emma Blanchard

World Exchange Plaza

100 Queen Street, Suite 1300

Ottawa, ON K1P 1J9

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	2018-0243	Process		ower Genera	tion Inc . /ment Amoun	t Adjustmer	ht.
	Canadian Manufacturers & Ex				Scott Pollock	t Aujustinei	
Party:			. Service Pro	Year Called to		Completed Y	ears Practising/
	Service Provider Type	(check one)		Bar			vant Experience
	Legal Counsel			2016			3
	Articling Student/Paralegal					r	
	Consultant				ŀ	lourly Rate:	\$170.00
	Analyst					r	
	For Consultant/Analyst:		CV attached		HST Rate Charg	ged <i>(enter %)</i>	13%
			CV provided	within previou	s 24 months		
	Si	tatement o	f Fees Bei	ng Claimed			
		Hours	Hourly rate	Subtotal	HST	Т	otal
Pre-Hearing	Conference						
	Preparation	2.20	\$170.00	\$374.00	\$48.62		\$422.62
	Attendance		\$170.00	\$0.00	\$0.00		\$0.00
Technical C	onference						
Teenneure	Preparation	5.20	\$170.00	\$884.00	\$114.92		\$998.92
	Attendance	2.10	\$170.00	\$357.00	\$46.41		\$403.41
	Accendance		<i></i>	<i></i>	<i>Q</i> 10112		
Interrogato	ory Preparation	7.20	\$170.00	\$1,224.00	\$159.12		\$1,383.12
	Responses		\$170.00	\$0.00	\$0.00		\$0.00
Issues Cont	ference						
	Preparation		\$170.00	\$0.00	\$0.00		\$0.00
	Attendance		\$170.00	\$0.00	\$0.00		\$0.00
ADD Cottle	ment Conference					****	
ADK - Settle	Preparation	3.00	\$170.00	\$510.00	\$66.30		\$576.30
·····	Attendance	10.10	\$170.00	\$1,717.00	\$223.21		\$1,940.21
	Proposal Preparation	1.50	\$170.00	\$255.00	\$33.15		\$288.15
			,				
Argument	Preparation		\$170.00	\$0.00	\$0.00		\$0.00
Oral Hearin	g Preparation		\$170.00	\$0.00	\$0.00		\$0.00
	Attendance		\$170.00	\$0.00	\$0.00		\$0.00
Other Carl						· · ·	
Other Confe	Preparation		\$170.00	\$0.00	\$0.00		\$0.00
	Attendance		\$170.00	\$0.00	\$0.00		\$0.00
l	Attenualite		\$170.00	<u> </u>			
Case Mana	igement		\$170.00	\$0.00	\$0.00		\$0.00
	VICE PROVIDER FEES			\$5,321.00	\$691.73		\$6,012.73

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



File #:	EB-2018-0243		
Process:	Ontario Power Generation Inc. 2019 Hydroelectric Payn	ount Adjustment	
Party:	Canadian Manufacturers & Exporters		
Name:	Scott Pollock		
Oct 22-18	Reviewing application	2.1	Interrogatory Prep
Oct 24-18	Reviewing application	1.1	Interrogatory Prep
Oct 29-18	Reviewing application; drafting interrogatories	4.0	Interrogatory Prep
Nov 19-18	Reviewing interrogatory responses	0.3	Technical Conf Prep
Nov 20-18	Reviewing interrogatories	0.5	Technical Conf Prep
Nov 21-18	Reviewing interrogatory responses; e-mail to board staff regarding technical conference	1.3	Technical Conf Prep
Nov 22-18	Drafting technical conference correspondence; reviewing interrogatory responses for follow up	0.6	Technical Conf Prep
Nov 28-18	Reviewing interrogatory responses and application in preparation for the technical conference	1.0	Technical Conf Prep
Nov 29-18	Preparing for technical conference	1.5	Technical Conf Prep
Nov 29-18	Attending technical conference	2.1	Technical Conf Attend
Nov 30-18	Reviewing the technical conference transcript	0.5	Pre-hearing Conf Prep
Dec 3-18	Developing final submissions; email to client	1.2	Pre-hearing Conf Prep
Dec 4-18	Reviewing letter to the Board re hydroelectric payment amounts	0.2	Pre-hearing Conf Prep
Dec 19-18	Drafting submissions re Issues List	0.3	Pre-hearing Conf Prep
Jan 7-19	Reviewing application, interrogatories, technical conference transcript and undertaking responses in preparation for the settlement conference	2.6	Settlement Conf Prep
Jan 8-19	Attending settlement conference	4.3	Settlement Conf Attend
Jan 8-19	Email and telephone call with client to discuss issues in the settlement conference	0.4	Settlement Conf Prep
Jan 9-19	Attending settlement conference	5.8	Settlement Conf Attend
Jan 10-19	Email to client outlining settlement proposal	0.3	Settlement Conf Proposal
Jan 20-19	Reviewing proposed settlement agreement	0.3	Prep Settlement Conf Proposal Prep
Jan 28-19	Reviewing draft rate order; reviewing correspondence on and revisions of settlement agreement	0.9	Settlement Conf Proposal Prep
	Total Hours for Spott Pollock:	31 3	

Total Hours for Scott Pollock: 31.3

<u>Hours</u>

Pre-hearing Conf. Prep 2.2

x \$170.00/hr =

<u>Fees</u>

374.00

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



0.0 0.0 0.0 0.0 0.0	x \$170.00/hr = x \$170.00/hr = x \$170.00/hr = x \$170.00/hr = x \$170.00/hr =	0.00 0.00 0.00 0.00
0.0 0.0	x \$170.00/hr = x \$170.00/hr =	0.00 0.00
0.0	x \$170.00/hr =	0.00
0.0	x \$170.00/hr =	0.00
1.5	x \$170.00/hr =	255.00
10.1	x \$170.00/hr =	1,717.00
3.0	x \$170.00/hr =	510.00
0.0	x \$170.00/hr =	0.00
0.0	x \$170.00/hr =	0.00
0.0	x \$170.00/hr =	0.00
7.2	x \$170.00/hr =	1,224.00
2.1	x \$170.00/hr =	357.00
5.2	x \$170.00/hr =	884.00
0.0	x \$170.00/hr =	0.00
	5.2 2.1 7.2 0.0 0.0 0.0 3.0	5.2x \$170.00/hr = 2.1 x \$170.00/hr = 7.2 x \$170.00/hr = 0.0 x \$170.00/hr = 0.0 x \$170.00/hr = 0.0 x \$170.00/hr = 3.0 x \$170.00/hr =

OTT01: 9378384: v1